n ?i for Water fs pumped bétween two Targe open reservoirs : &
%:,hmugh 1.5 kai of smooth fipe: The water smf&c% Hr thig Wi D
veservoirs are 4t the saime élevation. When the pump addx 20 k\"ﬁ?‘ . '
w0 the water the flowrate i 1 m*/fs. I minor losses are ng‘%wx . S
ble, determine the pipe dzaawser
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From Eqs (Dand )| 2.0% = 123.44/0% or {= 0, 0165 DF
(2) D=g.27F%
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Trial and‘ &f‘rw‘ solvtion of Eqs(3] (4] andts) for § f%‘@ and 8

Fscome £=0.02 so Eq(3) g,wes 3 =227 {0 ﬁé?é.}f‘g“i f?'é% and Eqt4)
gves Re= fféﬁ}ffi??f oi= [ joxio", ?77&'5* from £y 5‘5“5 fw 0.0l which
js not gggfsaf 1o the gssomed F=0. 02, Ty again wrf}% F=0.015 which
gives D= Q?Eim Re = fi22x10" aﬁd F20.0113.£0.0105 . One figal

try with £=0, “?fﬁ gives D=0, ?Z?‘m Re =1.23x10% and f=0.013
as m\rﬁwﬁ 7:5::?5 D=0927m.
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Using a compoter rodt-finding program fo selve Eq (8] g/ves
D=0.926 which /5 comictent with the trial and error solytiom

given above.

-2.0 f@g { %@5@%’} which, whed combined with Egs- (S)and (4) g ves
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